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Informations

¢ Nine homeworks were submitetd. The feedback will be found on T2SCHOLA.

Corrections
o Lecture Note, page 4, line 17:

1
2y . — (40 +1 —
H"(—c%) = {:c =(z°,...,2") eR"" | (z,x) = — 3¢t > 0}
1
= H"™(=c?) := {:1: =(%...,2") e R | (z, ), = ——,cTo > 0}
c

¢ Lecture Note, page 13, line 10: Xa(Y, Z)d+ = Xa(Y, Z)+
o Lecture Note, page 14, line 5: Remove the right parenthesis.
o Lecture Note, page 14, line —9 (eq. (4.6)):

dwl = Zwlwé = dw’ = Zwl/\wé
1 1

o Lecture Note, page 14, line —4:
Z(dws/\wi 7ws/\wi) = Z(dwsl\wé fws/\dwé)
S S

o Lecture Note, page 14, line —3:

Zws/\w:n/\w;”——Zws/\né = Zws/\w:n/\w;”—ZwS/\ni

s, m S s, m S
e Lecture Note, page 15, line 2:

D (w0 (eg)mters en)w’ (er)ri (e, e))w’ (el (€5, e)
S
S Y@ (es)nk(en, en)+w (ex)nt(er, e5)+w (en)ki (e er)
S

o Lecture Note, page 15, line 3:

D (65r%(en, e1)diri(er, €5)d7 ki (e, ex))

s

= Z((ijei(ek,el)+6,§n§(el,e]~)+5lsni(e]~,ek))

S

o Lecture Note, page 15, line 4: /{?(Ej,ek = ﬁ?(Ej,ek)
o Lecture Note, page 15, line 8:

K5 (er, e)+ry, (e, €)+ri(ej,ex) =0 = K5 (er, e)+r (e, €)+rk|(ej,ex) =0
o Lecture Note, page 15, line 16: As a immediate = As an immediate
o Lecture Note, page 15, line —6:

K(x A K(x N A
K= KEAW e, = KEAv0Y)
(®Ay,zAY) (TAy,zAyY)

o Lecture Note, page 16, line 8: position vector vector = position vector
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Students’ comments
o HIEIOBBTERP 7D TITH, AP VOB I TEL DT, HEEZBEBIZLE &
DBE S TXNELT.
Lecturer’s comment ¥ 5W/zL L T.
o 2XILD L E, EHERME [e1,e2] EBFVWTVETY, X7 MGOIEIEICO RZ 20D T
FELIBRVWEHPLET.
Lecturer’s comment Z 5 T34, VWEPSLEET 3 DIFIITHLRVTTH.

o« HOWV.. Lecturer’s comment (3.

Q and A

Q 1: HHFRICHIROMICHIRH D 5 7= D b FRRICZ K (M, g) 12 “REEX” 052D DHDH-
T, (M,g) RO 62D TL I ?

A: ZOXNRTHZEROIRBISHIET 2 DT 3, IFFEmSBETTD (EHMRORRIH
QMR T, FMRE D JXNET), EROEHUUZ RET > VL) 2w BOFEE
LT, LE - FERERIIZDERD LFEEN 0 XD ET. %5 (i V OREET VYL
DEE T(X,Y):=VxY —-VyX —[X,Y]. LE - FERERIZIIAIHZ D Z L BER
LTVET. MO TRRTZL dwl — 3 w® Awl =0.

Q2: V—<VHIRF UV R & LEMENT 2L Y vF 7Y Ry, 2 HFEHILTRA 57—l
RREBDETH, ZOLE, MNIRAFENIEIED LS BEREFHOOTL £ 5207

A: P V< YHIERT YLD TRAPENER] 2Y5F220b XD T LA,
Q3: E7VFDHE 1, H 2 EFRIRMAVCZED IS REKREDODOTL 2 I0?

A: ERE, FAROHERTH->TAZLEEVETY, 7 0F0%F 1 EEFX K GEETHR- 725
5) ORFMEEEL WS B TRAANRERYID D 30, 5 2 HEROMFNHIESER
h¥7.

Q4: E7VFOE2MEERE 2EENLT, 74 VP2 &AL YOENGOHEREE->TVWET
B, TOrE, MNIRAZEMZED XS REREZFEOOTL 250 ?

A: BT UXOMISAREATL £ 557
Q 5: SE DFH#EFHED m;'-(ek,el) (= R(ei,ej)ek = —Ve, (Vej ex) -‘rVej (Veiek) +V[ei,ej]ek &
Lzt % né(ek,el): (R(ei,ejlex,e)) DI BoDTID, HoTETTLEID?
FFEUCTH2EIDLD X A.
A: (Veie]-,ek) =e€; <e]-,ek) - (ej,Veieﬁ = — <Ej,Ve,iel> b:EﬁLT
Ki(er, e) = dwi(ex, e) + Y _(wi(er)ws (e)) — wi(e))ws (ex))

S

= er(wi(e) — er(w)(er)) — willex, el]) + D (wi(er)ws (e) — wi(e)ws (er))

= e (Velej,ei) — € <Vek6j,ei> - <V[ek,el]ejvei>
+> ((Ve,es, €i) (Ve ej,e5) — (Ve es,e:) (Ve €5, €s))
=(Ve, Ve ej,ei) — (Ve, Ve, ej:€i) — (Vie,.e€ih €i)
+(Ve,e;,Ve,ei) — (Ve, €, Ve ei)
- Z ({es, Veye;) (Ve,ej,es) — (es, Ve, €:) (Ve, €5, €s))
S

=(Ve,Ve,ej,ei) — (Ve, Ve, ej. €i) = (Vie, e 1€, €i) = — (Rlex, e)e;, e;) .

Q 6: MR THTELAT Y RMEL VI DIF, HEADERTEE > TWAHETH 57253, Zihudih
M2 Y 7% Riemann 318 % AN-REOWHEIR Y U THRIRTE 2 ?

A: F—HAEAEZ) -~ iR B o722 ZOWMME 2 XTRDT, HOAIZE>TEZ S
fmi_EDBEED.



